Removing_Left-Recursions (1b)

ALGORITHM: RemoveLR
INPUT: CFG G=(V, X, R, S)
ASSUME: G has no e-productions
OUTPUT: G’ s.t. G’ =G, G has no
indirect & direct left-recursions
PROCEDURE:
impose an order on V: ((Aq,Az,...,An))
for i: 1 .. n:
for j: 1 .. i-1:
if 3 Ai-AveR A A »61|d2|...|dme R then
replace A — iy with Ai = 61y | day | ... | dmy
end
for Ai—- Aia|BecR:
replace it with: A;— BAl, Al - aAl|e
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Removing_Left-Recursions (2b) Poes the order of variables matter?

1 JALGORITHM: RemoveLR -l: i

2 INPUT: CFG G=(V, X, R, S) = -A—

S ASSUME: G has no e-productions

4 OUTPUT: G’ s.t. G'=G, G has no @C |

5 indirect & direct left-recursions

6 J PROCEDURE: @B @C

7 impose an order on V: ((Aj,

8 for Jz 1 .. M

9 for j: 1 .. i-1: @A @,@
10 if 3 Ai-AveR A Ai>61|62]...|dme R then L E
11 replace Aj— Ajy with A -1y |dav|...|dmv

12 end - | ‘

13 for A - Aja|BeR: s (= Zgl

14 replace it with: A;— Al Al - aAl|e J
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Removing Left-Recursions (2c) D- + 114k C%
Y e Feplae A b Ba sl b
oUTPUT: O ot =G G hee no T-> Baal ba|f Ifg
indirect & direct left-recursions

PROCEDURE:
impose an order on V: ((Aq,Az,..., An))

for Jz 1 .. M
for Js 1 .. =12

if 3 Ai>AyeR A Aj>61|62]...|omeR then

replace Aj— Ajy with A -1y |dav|...|dmv ?ePlaw [‘, Lﬁ' D.F QJ\A a/

end
for A - Aia|BeR:

replace it with: A;— Al Al - aAl|e 'V..a V_pdﬁa | gAM [PAk lLﬁ
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